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Impact of technological change

The 1900 Paris Exhibition and the Pan-American Exposition of 1901 demon-
strated the industrial might of the world’s great powers and heralded the techno-
logical advances that could be expected in the new century. Electricity was
providing a new power source in factories and on tramcars. The replacement of
steam trains with electric ones around 1900 aided the growth of underground rail-
ways in Berlin, Paris, Vienna, New York and Philadelphia.

In the United States, one in 50 people had a telephone. Edison’s invention of
the gramophone gave people access to recorded music, and the Lumiére brothers’
creation of cinema was opening up a whole new world of entertainment. Other
significant inventions in popular use were the mechanical carpet sweeper, the
Gillette safety razor and the typewriter. The need to promote new products such as
these encouraged the growth of advertising.

The industrial skills of the major European powers provided the military, medical
and communication technology that underpinned their success in imperial expan-
sion. Britain and Germany were Europe’s industrial giants. They produced 66 per
cent of Europe’s steel output. Britain’s coal and textile production were greater
than that for all of Europe together. Germany was the world leader in engineering.
The two nations competed for technological dominance and the economic and col-
onial power that could come from it. Théir industrial strength enabled them to
impose their political, economic, social, cultural and religious influence
throughout the world. Britain would eventually concede its dominance to Germany
and the newly emerging industrial powers of the United States and Japan.

Industrialisation was a regional phenomenon. Within Europe, pockets of indus-
trialisation and the business and financial sectors they encouraged co-existed with
the ongoing agrarian economy. Communities isolated from the impact of industri-
alisation lived largely as they had for centuries. Russia and the nations of southern
Europe scarcely changed at all. In most other areas of the world (with the excep-
tion of the United States), industrial power was either limited or non-existent.
Countries that had not begun to industrialise or that were making only slow pro-
gress suffered from the changing balance of power that industrialisation created.
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